= 25 = 26 N = 27

25 circles in a hexagon 26 circles in a hexagon 27 circles in a hexagon

radius = 0.159724477011  density = 0.771224725335  QEgwr: radius = 0.158493649054  density = 0.789759871678  QEgwr: radi us o. density = 0. Egere
ratio = 6.260781182154  contacts = 56 peis ratio = 6.309401076757 contacts = 70 pes t 6.309401076757 tacts = 75 el

N = 28 = 29 N = 30

28 circles in a hexagon 29 circles in a hexagon 30 circles in a hexagon

radius = 0.151660010858 density = 0.778750221348 [ fgwr: radius = 0.150002435355  density = 0.789028343675  QEgmr: radius = 0.150002435355  density = 0.816236217595 Eaere
ratio = 6.593695954138  contacts = 60 ol ratio = 6.666558430413 contacts = 66 paeis atio = 6.666558430415 contacls = 80 o o

N =31 = 32 N = 33

31 circles in a hexagon 32 circles in a hexagon 33 circles in a hexagon

radius = 0.144498618555  density = 0.782685107531  QEgwr: radius = 0.142897923362  density = 0.790132270668  §Egwr
ratio = 6.920481385892 contacts = 72 peis ratio =  6.998002325528  contacts = 65 P

N = 34 N = 35 N = 36

34 circles in a hexagon 35 circles in a hexagon 36 circles in a hexagon

radius = 0.140313381692  density = 0.809422153571  gEgmrs radius = 0.139827762740  density = 0827471126376  [EFgmr
acts = 82 ts = 83 s

ratio = 7.126903991180  cont ratio = 7.151655582603  contacts



